


NLP

NLT
NPP
NPT
SLP
SLT
SPP
SPT
LDS

LKS NLP - X1

NLT - x1

DR NPP - x1

NPT - x1

SCH SLP - X1

/ SLT - 1

ST SPP - x1

SPT - x1

LOS - xkL

® O LKS - xb

OR - x2

Recommended SCH - x3

assembly by 2 person ST - x2L-32



I
IV

X1
X1

X1




V- x1
VI - x1
VI - x1
VIl - x1
IX - x1
X -x3
Xl - x1
Xl = x1




SgEgiggeeg s
GLUE KLEJ K10 M1OX45 WEB  MIXD
J ) ee
. S50 M6X50 K8 M8X35 W30  M&X30
— DDDDIDIIY Q ,
S
S80  MeXso K81 M8X21 WL5  MLXLS ©
@ oy 0 ) > 2,
\ ©
W60  MLX60 @v

4

) S110 M6X110
@ % @?yg@y@w@wg@wwyggv

GLUE - x1



Quantity of holes for mattress bar
and number of ST part

Lenght QT ST

200cm 16 16
90 cm 16 16
B0cm 1k 14
®0cm 1 14
Locm 12 12




Attach these items before
assembling the bed

€M

XTI



K8 M8X35




S10 M6X110
() T




K8 M8X35

Q )

VI




SN0 MeX110
) T




Q







K8

Q







S50 M6X50




w30  MLX30
EOmmmns




mmmmm







0
OLX
e
nmo

SHXOLW
ElY




3 ||40°
JQ/LRQ
.

9.,

|

8 €O
Q o)
J
o
e~

K81  M8X21 / °




Remember to mount the element
with the number inwards




w30 M&X30




59

L'8)

~—

e
LZX8W



Remember to mount the element with the number inwards

57| 56| o
\\.QJ\Lg_ saj \52\ _/AJ/LV' |
'\sﬂ\'sxﬁ // 1
I \\ /
| ===
D}LK\UﬁLﬂ 20 J J




w60 MLX60
@3@5@3&3@5@5&3&:

W30 MLX30
D>







Remember fo mount the element
with the number inwards

\

\/
1\
\

21| %




W60  MLX60
@Eygg&wg&gﬁg&y?

W30 MsX30
Eommmns




K81 MBX21 / . .




Remember fo mount the element
with the number inwards

E
L
Al

-

=

\
i







SEXBW L8N




W13

12

////////////"
II -MWMJ




e
SEXSW 18

A L

PSRN
S

®

Remember fo mount the element
with the number inwards







| Remember to mount

the element with
the number inwards










| 1]
NIE SKAKAL

Gorne tozko dla dzieci

powyzel 6 roku zycia

Wysokosc materaca
min. 8 cm
max. 12 cm

MAX
60 kg

UWAGA /

ABY ZAPOBIEC POWAZNYM URAZOM | USZKODZENIOM
CALA NALEZY:
- Mgay mie pozwalac dzieciom ponize/ 6
roku Zycia przebywac na gorne/ pryczy
- Uzywac tylko materacy o grubosci 8-12 cm
- Uzywac poreczy po obu Stronach gornel pryczy.
- Me skakac' na lub pod tozkiem fozkach)
- Zakazywac przebywania wiece niz jeanes osoby
na gornym tozku
- Uzywac drabiny, aby weisc / wyjsc z gornej pryczy.
- Me wieszac sie na elementach konstrukcyjnych

(zesc/ drewniane nalezy czyscic za

pomocg suchel szmatki oraz zwyktych, tagoanych
Sradkow do prelegnacyi / czyszczenia Surowego
drewna

Zaprojekfowano | wykonano Zgodnie Z norma:
PN-EN 74 7- 1A 12015-08

MEBEZPIECZENSTWO ZAGROZENIA - Migdy mie podtacza
anl nie zaw/eszaj przedmiofow do jakieikolwiek czesci
lozka piefrowego, do kforej nie sq przeznaczone.



| 1]
NO JIMPING

Upper bed for

children 6+ years old

Maltress height:
mn 8 cm
max. 12 cm

MAX
60 kg

WARNING /

10 HELP FREVENT SERIOUS OR FATAL INJURIES FROM
ENTRAPMENT OF FALLS:

- Never allow a child under 6 years on ypper bunk

- Use only mafiress with Ihickness 1s 8-17 cm
hewght

- Use guardrals on bolh sides of ygper bunk

- Prohibit horseplay on or under bed(s)

- Prohibit more than one person on ypper bunk

- Use ladder for enfering and leaving upper bunk

- o not hang on consiruchion components.

Wooden parfs should be cleaned with a dry clof and
ardmnary, mld care and cleamng of raw wood

Designed and made accordng o the standard:
PN-EN 74 7- A 12015-08

STRANGULATION HAZARD - Never atfach or hang
items o any part of he bunk bed that are not

designed for use with the bed



